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StringBuilder [I]T] M I 0 [ I [TI111 0 I StringBuilder []]
g o 0000 O o 0 string(ll [ 0 IO

StringBuilder sb = new StringBuilder("hello");
sb.append(" world"); // 00 00 000 0OOO OO
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a1 11 (ITITT] (11T} o(1)[M *O(n)*O ,[O0  String[l]

m .
(g 1o return this[] [1] [I1[T] 0 I

? append(String str)

e (111 (0 010

e [] : new StringBuilder("hi").append(" there") - "hi there"
e M [ :charll[@ OO M -0 M 00D I
e [IT1T] M O(1),M 0O O(n)

? insert(int offset, String str)

e[ OO0 OO [
e []: "abc".insert(1, "X") - "aXbc"

e M [ :offset[] IO M str



? delete(int start, int end)

eIl OO0 OO [M (start <= i < end)
e []: "abcdef".delete(2, 4) - "abef"

M M :end[d OIO (1]
o [IIIT] : O(n)

? deleteCharAt(int index)

e (I [IIM [0 10 M
e []: "abc".deleteCharAt(1l) - "ac"

e [IIM] [ :delete(index, index+1) [TT]  [I]

? replace(int start, int end, String str)

e I OO strd [
e []: "abcde".replace(1l, 4, "X") - "aXe"

e [[I[I] [I] :delete[] insert []]
e [IT1T] : O(n)

? reverse()

e [IIT] (11 [0

e []: "hello".reverse() -» "olleh"

e (M1 [M :charfl] 0 OIJ swap
e (11111 : O(n)

? toString()

e StringBuilder [I1] String [I1J il

e []: sb.toString()

eI M :0OO0 string@ MM (M [ )
e 1110 : O(n)



? setCharAt(int index, char c)

0 0O OO0 M

e []: "java".setCharAt(1l, 'o') - "jova"
MM M 0 M M M
e 1110 1 0(1)

? charAt(int index)

e[ OO [M I
e []:"java".charAt(2) -» 'v'

e [MIM :[ charll1[O [M M
e [IT1T] : 0(1)

? length()

e [I] OO0 [ [M
e []: "abc".length() - 3

MM :M 0 M M O (count[d )
e (1110 : O(1)

? capacity()

e[l O M M M (@*O char@ @M )
e [] : new StringBuilder(10).capacity() - 10

e [N [ [M 16,11 0O M [M (M :newCapacity = (old * 2) + 2)
e [I11T] : 0(1)

? ensureCapacity(int minimumCapacity)
M M OO MM (@ mM )

e [] : sb.ensureCapacity(100)
Il ' M 0 WM 0O [
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StringBuilder sb =
String result = sb.

new StringBuilder();

append("Hi")

.append(" ")

.append("there")

.replace(0, 2, "Bye")

.reverse()

.toString();

System.out.println(

3. 77?777

result); // "ereht eyB"

M od

i append (null)
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ensureCapacity()
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